Work from home Term 2 Week 2
Maths
Choose the level you are happiest with, check the answers when you’ve answered a few questions and if they’re correct and you feel confident then try a few questions from the next level. You do not have to answer all the questions.
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) Copy the table, writing each area in figures.

East Sussex.

one thousand seven hundred and ninety-one

Suffolk three thousand eight hundred
Northumberland | five thousand and thirteen

Merseyside six hundred and forty-five

| Cumbria six thousand seven hundred and sixty-seven
[Cambridgeshire | three thousand three hundred and ninety.
South Ayrshire | one thousand two hundred and two

[West Yorkshire | two thousand and twenty-nine
Aberdeenshire | six thousand three hundred and eighteen
Conwy one thousand one hundred and thirty

(€D These figures also show the areas of UK counties. Wite each area in words.

a
b
9
@
o
n

Powys 5204km? ) Ile of Wight 380km?
Nottinghamshire 2159 km? h) ArgyllandBute 6930k
Somerset a170kn? ) CountyDurham 2721 km?
Lincolnshire 6959km? D Norfolk 5371 km?
North Yorkshire 8608k K Lancashire 3075km?
Berkshire 1262km? 1 Devon 6707km?
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{©) Copy the table, wriing each population n figures.

Chester | seventy-seven thousand and forty
York one hundred and ninety-five thousand four hundred

Glasgow | five hundred and rinety-two thousand eight hundred and twenty
Coventry | three hundred and nine thousand eight hundred and six

Bath | eighty-four thousand and five

Leeds | seven hundred and seventy thousand nine hundred

Wells | ten thousand four hundred and two

Belfast__|two hundred and sixty-seven thousand five hundred

(© Wite the population of each of these UK citie in words.

a) Salisbury 50000
b) Hul 258700
9 Edinburgh 486120
d) By 15102
) Manchester 502000

) Cardif
9) Derry

h) Sheffield

i) Gloucester
i) Birmingham

341054
85016
534500
123205
1000000




image3.png
c

(@ This table shows the number of passengers passing through some UK airports in ane year,
Copy the table, writing each number in fgures.

(Airport Total Passengers

Heathrow | seventy million

Belfast four million, sixteen thousand one hundred and seventy

Leeds Bradford | two millon seven hundred and fft thousand and nine

Edinburgh | eight millon six hundred thousand seven hundred and fifteen |
Cardiff ‘one million four hundred and four thousand six hundred
Liverpool | five million thirteen thousand nine hundred

Gatwick thirty-one millon three hundred and seventy-five thousand
Manchester | seventeen millon seven hundred and sixty thousand

© Witethe populationof eac cty in wors.

) Mumbai 12500000 f) Hong Kong
b) New York 8244900 9) Sydney

9 Auckland 504830 h) Rio de janerio
d) Gairo 6758581 D Shanghai
©) Moscow 11551000 1 Los Angeles

7108000
3749902
6323037

17836000
3819702
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Here is part of a Roman Numerals hundred square.

Complete the missing values.

XLIV | XLV XL
LvI LIl
LXIV LXVI | LXVII

What patterns do you notice?
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Here are three ways of partitioning 27,650
27 thousands and 650 ones

27 thousands, 5 hundreds and 150 ones
27 thousands and 65 tens

Write three more ways.
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Describe the value of the digit 7 in each of the
following numbers.

How do you know?
407,338
700,491

25,571




